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Instructions :

(1)  One mark will be awarded for every correct answer for post code 11, 51 & 52 and half mark
for post code 12, 13 & 14. There are no negativc marks.

Q8% 26 azws FFT £6 11, 51 S0y 52 vk o Sy, D 56 12, 13 Sobodw
14 £58% w6 Sy, Fironoddo adfhEed. JkuSed d.wég.. ;'n‘d»u. 3.

(11) Choose the corrccl or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3, 4 in
the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

B3 Al @6 PH% Rdedd TOST LIRS Jdreidind INFI TID Srlod
@os 1, 2, 3 4 3o adS OMR ddrod eoLe‘S;’b.oeS‘ SHH LonodulS Sopgio LS
ar/erl S ool V) GIRFHOD JcLIB.

1.  Asumofmoney placed at compound interest triples itseli' in 6 years. The number of years
in which it will amount to nine times itself, is

¢

w§ F3wy 6 oSG SESGS Srde B LJ ok, v iy 9 BL Indo sITWE

- -~

Sl toddiore Jdopg
(1) 15 (2) 18 3) 9 (4) 12

[§]

The annual compound interest on a certain sum for 2 years is Rs. 408 and the simple interest
for the same period at the same rate is Rs. 400. Then 10% of the principal sum
(in Rupees) 1s
%8 Q08 PP 2 SodHTOR FoSH0E WESG dom. 408 ook 23 Tind' elserdd
5§ &m 400, wond, sdwo ISt 10%, (Er.os)

- c—— V. —

(1) 5,000 (2) 500
(3) 100 (4) 1,000

3. Atannual rate of compound interest if an amount of money grows upto Rs. 4,840 in 2 years
and upto Rs. 5,324 in 3 years, then the rate of interest is

FoldE)08 r..Léaaéu w8 Joogdoo _.'_l_po" dioofo dr. 4.840 Sodain 3 Soeddicef
&>, 5,324 wowd, © $§dLo

(1) 9% (2) 12% (3 10% 4) %
3-D
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T HIC LOHIPOUNIU ITICTCST (11 TUPCES) ON KS. 23,000 1or 3 years, 1t the rate of interest 1s 4%
for the first year, 5% for the second year and 6% for the third year, is
SNES Jodgydo d%. Todd Jodgyo_5%. Iwrdd Solddido (% 3ETLE Swrdo
Soddioese & 25.000 3 wdy SE5G, (rchos?)

(1) 3.398 (21 3,938
(3) 1,575 C(4) 3.839.50

5. Amanborrows Rs. 3.000 at 10% annual compound rate of interest. At the end Péach year
he pays back Rs. 1,000. Then the amount (in Rupees) he should pay at the end ot the third
year to clear all his dues s
10% Fo3g)08 <553 TLod' &8 55§ & 3.000 wy S, ©6 o3 Tesod

el & 1,000 2088 2ok, sond ords SodSorodost valS Gl CHv

= Y
ToT SO IdruRRol, vk DOoEsRS Faw (rdrabod?)
(1) 3.300 (2) 2.300
3) 1,530 4) 1,683
L'), (4) 3

6. Rs. 425 s divided among four men, five women and six boys such that the share of a man,
a woman and a boy is in the ratio of 9 : 8 : 4. Then the share (in Rupees) of a woman is
LS

o BB, E @a_ $o0ctn wf wend Sre G 9 8 ;4 @dﬁosuwﬂn‘ EIIV AT
B, 2LDD Be 200 BHHE T & 4255 2TRoTd. wiyh uE &
AxFH JFr (Edohed?)

(1) 55 (2) 25 (3) 70 (@) 34

7. One year ago, the ratio between Siva's and Ravi's salaries was 3 @ 5. The ratio of their
individual salaries of last year and present yearare 2 : 3and 4 : 5 respectively. If their total
salaries for the present year is Rs. 1,29.000, the present salary (in Rupees) of Ravi is
&8 Bodgido $do §5 Docw v Foow ALG 3:35. 880 Jodgo bk PBiS
Rodgido >0 S¢S dore Rydes SEHm 213 Hodaks 415, RS doddoNE 0
doro 2wdo & 1,29,000 woxd, 59 R, o Ede (Erdodod’)

5 evc

(1) 54.000 bB,CT* (2) 73,000
(3) 69,000 (4) 60,000

4-D
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atb:b+c:c+a=4:5:6wo008,a:b:c=

5 Z ———

(1) 6:5:4 ) T:5:9.
(3)5:3:7 (4) 5:6:4

9. Two candles of the same height are lightcd at the same time. The first candle is consumed
in 5 hours and the second is consumed in 3 hours. Assuming that each candle burns at a
constant rate, in how many hours, after being lighted, was the first candle 3 times the height
of the second ? :

&8 D83 5ONS Todh T RO wEF0 DOAOTD. IS FI8 5 Hobes'S $HBcko

B0 3 obes' §8aFean. B8 555a, ROONS* Fendsr GX)E5808, 3OAODS
SETE, IY dobo, G §I58 I8 BosS ESQ IHE Swrddi &otod?

n 2% " @ 3+

- R

3) 2 , 4 3

10. Two numbers are in the ratio 2 : 3. If each number is increased by 15, the ratio becomes
7 : 8. Then the sum of the given numbers, is

Todo 603:503‘2_:_} ARES* GImon. BB Sopgd 15 Ko LOLIHYE T8 g 7:8
©HB08. Bond aNS Sopge wdo ~

(1)_15 : (2) 25 (3) 30 (4) 45
S . 3213 ,
1. If 1632 is divided into four parts in the proportion of 2352 respectively, then the
third part is
am 2,231 5
1632 & Sodm 33’57 © 08 eRddod' Tl e PR, Sords
wiio
(1) 540 . (2) 432
(3) 480 (4) 180

5-D
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2 :3:5respectively. If the number of students in Arts, Commerce and Science is increased
by 15%, 20% and 25% respectively, then the new ratio of studcnts in Arts, Commcrce and
Science respectively, is

o8 SrTos uf), T8 5000 ) FhH6HE drgRe A SEEm 2 1315 uf),
s‘éaq) S8 Py :Da‘sdgo ooa)géo SEJ 15%, 20% Sodas 25% 2008, SKHdm
wf), 95;53 S0BAE® DY :)6'8630 SorefS :’)_Aa

(1) 6:12:25 (2) 3:4:5

(346 :72: 125 o (4) 10:12:15

" 13. The ratio of the mean proportional of 0.02 and 0.08 and the Geomertic Mean of

12 and 27, is

0.02 50800 0.08 © BnE), J¢gs VRIS S08g0 12 508050 270 KeoSFSrdE -
fo NG A

(0 1:9 2 1:4

() 4:9 | (4) 1:450

14. The ratio of males to females ina town is 7 : 5 and the percentage of children among males
and females is 20% and 15% respectively. If the number of adult females is 398650, then
the total population of that town is
o8 5L0S") YHDo, Qo A T : 5 Hdcin TOS* ;Sad_;b_gw, esEhee 56966'

20% $08050 15% &, SRBrasBs edasd Sopg 398650 wond, ediymo Ingo

2O
(1) 11276800 | (2) -1125600
(3) 2365470 (4) “2511600

15. The compound ratio of the duplicate ratio and sﬁbduplicate ratio of the ratio 4 : 9 is

4:9 998 Do, 56 K)aga aﬁoeoﬁ» SgSre. &)azgéuo Doosng a.;)a (compound ratio)

(1) 32:243 2y 8:27
(3) 1’6':81 | (fl) 223
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o oA G o T aeessuvaD 13 T4, AL CaUIL IUIDET 1S 1IFST multiplied by
3 and then increased by 3, then the mean of the resultant new numbers is
w8 SDBS* do 23 Somge B, w08 DEgH0 42 B8 Sowg Jd, 3 B 3o,
SH>E T8 3% é@bé';’weﬁon‘ ST £ Sopge ®oESoggoo.

(1) 125 (2) 117
(3) 104 | () 129

17. A person divides his total route of Journey into three equal parts and decides to travel the
three parts with a speed of 80, 60, 30 km/hr respectively. Then his average speed (in kmph)
during the whole journey is
w8 558 S50 HosrSod Iwdgo S Sardo S8 WTOM JFEQD, 8 Jortdh e
SEBT Kok 80,60, 30 8.5 Fxos* BSrSoTod dgonomrd. ®ond Indo Bokrmos®

08D HHén Ko (Kot 8.50.e¢5%) :

(D—60 (2) 50
(3) 48 . . (@ 24

18. Theaverage age of three persons is 46 );ears. [ftheir ages are in the rati(.> 5:7:11, thenthe
sum of the ages (in years) of 1st and 2nd persons is
SRS Sg8e Sk Soody 46 SosEiTen. 30 Sehdne D8 5: 7 : 11 sand,
SNEE_Sobckn Tods Sghe Schrnye Ao (Sosdorees®)

1) 92 (2) 108 (3) 96 N [472

19.  The average age of 40 boys in a class is 16 years. One boy aged 20 years left the class

but two new boys came in his place, whose ages differ by 6 years. If the average age of
all the boys in the class again becomes 16 years, then the age (in years) of the younger
newcomer is _ .
&8 SEABSD 40 5008 erend Do Sobiy JO SoSdoren. 20 Sosdore o5y Ao
w8 Tl & S6M8Y SEDHM, B8R FIos* 6 BoSHTe STArBEC KON g £
el ST, Biyh KBS Lok wrend B $050%9) 88A 16 So58)0B
©ox8, FEm SN TS AHTE Soidy) (Rosdyoros?)

(1 21 .Q)'/IS (3) 16 (4) 20
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mm—m— e mem— v aswe w v prwa amm,

so that, on sellmg the mixture at Rs: 42 per Kg, he may gam 20% on the outlay?

32 2§ 088 & 30 dens 8OAS 20 ééo Qo&rs&)ﬁ 32 o088 & 45 Dend EOAS
DoSrgd) IV '§$w 50938, & 5%:6 @ :)o@'&'&h 8 28,0838 &, 42 :5‘03:6 @m&éajdo
Sodo Eso hJCS 5 20% orard) 28 $g8 Fodherdo?

(1) 5 = (2) 15 : 9/10 4) 20

3. & vessel of 48 litres capacity is filled with certain amounts of water and milk. If only 40%
of the quantity of the milk and only 60% of the quantity of water are poured, then the vessel
1s only 55% full. The initial quantmes (in litres) of milk and water in that vessel is

48 5 e FBogs0 Ko w8 I &5 Fog 2o o', DADS o VRS S Do, 52

8 o grifost 40%, OB grKost 60% ;‘33'@53: ) 603.3 © G 55% Sovgd Rod
&odb. g ;’modm‘ PR, e, V) Foden (ééodé“)

(1) 12,16 - () 20,28
Q _2_2'£‘2_(3 4) 25,23

22. A man buys two horses for Rs. 72,900, He sells one at a loss of 6% and the other at a gain
of 7.5%. On the whole he neither gains nor loses. The difference between the cost prices
(in rupees) of the two horses is

w8 5g8. oo Hored & 72,900 o8 &R, 2 TAJ 6% S8, oS 7.5%.
- - | — —

oerd8 olow, ngo o w8 ooy, SPom Soifdd. & Bodk HITe §F)

pdde Hgg Fdo (Crrobeds?) _

(1) 8,100 - (2) 10,200

(3) 15,000 (4) 2,400

23. Thc average monthly salary of employees, consisting of officers and workers' of an
organisation is Rs. 60,000. The average salary of an officer is Rs. 2,00,000 while that of a
worker is Rs. 40,000 per month. If there are 800 employees in the organisation, then the

~ number of ofﬁcers is

BB, SG,8 $0AS &5 éo:&é‘&) &5‘5({)0 Bl o ddo & _60,000. =8 shHIH
Bwg), drew z?.éo ?3650 63' 2 00 000 =8 562,63 :Booéz, S 280 I . 40 000.
e .ooges‘ 800 008 aé‘grboo ﬁoB so«og Sopg

(1) 75 (2) 100 (3)-200 (4) 150
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by 10%. [f at the end of the second year, the 'pop—ulatlon is 56133, then its populanon at the
beginning of the first year, is

a8 (rHo BwE), Ty 8 JodGidos' 10% oA, sHd Josg)dos® 10% SASE.
BosS BosEToSeS' 2w 56133 wand, InEE SoIEGo FEoFoSD T 2T
(1) 55700 (2) 56056
(3)- 56700 - (4) 56744

25. Ifthe price of sugar falls by 10%, a consumer can buy 22 kg more than before. If the price
is increased by 10%, the quantity of sugar (in kgs) he could buy for the same amount is

" RoWTE &8 M 6?\3 a..é DD&J‘I{G‘&C&) RAVENITN] 50&3 22 $den J&bé §‘&'>r‘f¢)d) &8
10% 2OR8, @a Qa’m&e‘i‘ od 5‘86{103\«‘6 oo;'.scs'd oa&-mo (Bdees?)

(1) 200 (2) 220
(3) 250 (@) 180

26. If the price of wheat is increased by 25%, by how much perccntagc a housewife must
reduce the consumption of wheat so that, her expenditure on wheat is decreased by 10%?

fode &8 ?5% '13653..9..5 fyeed oD 93? :p_(i)‘)c‘ﬁg 10% égg‘dbﬁ"ég_;z)s. {'i‘c:.’uégo
DIBMY Jo8 T80 SNoWESed $i08?
(1) 25 | 2) 28

(3) 30 @ 35

27. A sellshis goods 20% cheaper than B but 20% more than C. The amount (in rupees) that a
customer of B B saves, if h¢'buys goods from C for Rs. 100 is

A 85 ;ngé)oﬁo B 6033 20% 85,3 :pédus_’;o C. 5053 20% A8, S pOGK © _A_e‘éo B
o'ﬁ:oé‘b 2 aa&rdw&(&) C 38 Lo 100 05: ;’Jq;:é)c» Fod, @6160 1~ a* B0y

(&-#o&oé‘) » .
(1) 50 | 2) 20
Gy (4) 60

9-D
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29.

30.

31.

247

T T TSI Tme e WA W SAWIAVWL D G IOV

increased by 15%. Then the overall percentage increase in the revenue is

@8 DABrHE SV DY Doy 10% DOAE H08ckw wE BB G6 Sra 15% BACE.
o8 InFod BT°c0S* DHHE TS0

€@y 255 (2) 24

(3) 265 4) 25

The shopkeeper rises the price of a shirt by 30% and then he gives a discount of 30%.
If the original price of the shirt was Rs. 1,200, then the amount (in Rupees) that the customer
hastopayis

Aa..g TR HE 28 T, §65 30% od, & 8808 30% A28 add. © T,

Roky @B 66 6. 1,200 wond, WISrATesds BYoSSOnS iy (Er>ase)
(1) 1.560 (2) 1,200

. (3) 1,292 (41,092

The marked prices of a shirt and trodser are in the ratio 2 : 3. The shopkeeper gives 25%
discount on the shirt. If the total discount on the set price of the shirt and trousers is 20%,
then the discount offered on the trousers approximately is

8 T5y, D0 Fgotn A, BESS Sdo 348 2: 3. SeyD Soromdd 25% -
& 085 [NE. 5, Sodon Fgotne 2EEED S0go 83708 20% wond, Fgoton
NS 8,085 DSrdom s

(1) 15% (2) 33.33%

(3) 1667% . W 18.5%

A person gave 10% of his income to a trust, 15% of the remaining to his son and 20% of
the balance to his wife. If he is left with Rs. 38,250, his income (in Rupees) is

w8 958 08 emabas® 10% w8 LR, A0S TS 15% 98 S5r6HI8, S
DN0F ISt 20% ©ED EgE TN, W8 S r. 38,250 20O God. wED
8o (ErdrcHos?) '

(1) 72,500 _(2¥762,500

(3) 69,545 (4 85,000

10-D
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32. The population of a village is 10,000. In a particular year, male population is increased by
5% and.female population is incteased by 8%. If the population at the end of that year is
10,590, the male population in the village at the beginning of the year, is A

28 P50 Gg aTw 10,000. 8 39 SoSE)EoS*t YHWe 2Ty 5% H00n Go
aagr 8% Domon. & Jodorodes® asyr 10,590 ©wond, & JoSdJ @rdogod”
& (Mo @E)_@_o BT

_(1y~ 7000 (2) 3000 (3) 5900 (4) 5500

33. A student has to secure a minimum of 35% marks to pass inan examination. If he gets 200 ¢
marks and fails by 10 marks, then the maximum marks in that examination are

o8 05" T sS5EIE ¥ dogd EABo 35% Srdpen Forrd. ws 200 Srdn.en
P08, 10 Srdyyen S8 38° H6E SDy8, & HO5S'D K0P Srdyen
(1) 800 (2) 1000 (3) , 500 _(4)- 600

34. The cost price of 8 pens is equal the selling price of 5 pens. Then the profit percent is *
g 2de FHdo 5 e s Jo B5rS8, oy TEo
(1) 50 260 (3) 40 4) 25

35. A man sold an article at a loss of 10%. Had he bought it for 20% less and sold it for Rs. 55
> more, he would have made a profit of 40%. Then the original cost price (in Rupees) of that
article is ~ .

w¥ igg w 5@2‘&’ 10% jagoas @5.5'&:;. aja_a_.o:)m% éé;b;‘:\& £, & 55 aéogés\;
& Q) @ol, 8488 Yo 8. 80 RBNE) B3 g

vdd © 5y, ol ST ;:;_erzﬁo D)8, vy i:s_g@ B0E), BIW $H6

(SeFodos®) : :

’(/1),, 150 (2) 200 (3) 250 (4) 300

36. A profit of 20% is made on an article when a discount of 20% is given on the marked price.
Then the profit percentage made, when a discount of 25% is given on the marked price, is

BESS S8 20% ol asyT. ¥ S 20% ogo SY0B. BEBS 8B 25%
8,08 aRdHSh, $B) oeréo
1 2 i
§ — 6 = 12 —
1 83 @ 63 3) 10 4 123

11-D
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38.

39.

40.

247

at a loss of 15%, on the whole he makes neither profit nor loss. Then the cost price
(in Rupeés) of the second table 1s

PN 506' w8 HBane BensSo (SJ' 7,800 % edydo oge 30 30% erard) Fomrdd. wEk &
Bw&& 15% 15% S8 esa:gseojd: Jvgo & w88 o FosR, :Ssos‘:) OB, ®ond
BodS ?32.»6 Rog), FHES (ErdrchHes?)

(1) 12,000 (2) 18,000

(3) 15,000 (4) 16,000

A person saves 20% of his income. If his income increases by 24% and he deides to save
25% of his present income, the percentage of increase in his savings is

a8 558 08D srobos® 20% o Do, wdd vmabo 24% LOASLYD, KRS
wrrobod* 25% e iﬁoﬁro:&s‘oﬁ ©Ed BOSt DEHKHE ’réo

(1) 36 (2) 82 (3) 60 (4) 55

3k 4k 9k Tk 21k
If kis the least positive integer such thateach one of 3 A and — isan mtegcr % 4

4
then k2=
3k 4k 9% 7k 21k

el i & ' 2 . .
234" 3" 4ws£)_lagj'o'os'w@ ge0 ké&)gdé.@o‘oémék |

(1) 126 (2) 504

(3) 252 (4144

: 154 160 , .

A value of k such that PR and Z 37 & all integers is

2 1.29_5505_.01.2 3 Sogenod k g, wE dend
k9’kl7 kSIw@lqr o5Tew ©@ginod k Bwg), wE Jen
- g & i 6 |
()17 ()17 ()17 ()1-7

12-D
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42.

43.

44.

45.

247

The smallest fraction among —,~—,—,—, =

11 18 22°36°6 |
L E li E 3 S £D% DS
11'18°22°36°6 © ._19,10
19 ' 15 .
je2) 36 (2) E%)
6 ‘ 5
@ EEECN-
478.478 +847.34 = x
(1) 1326.3269633 (2) 1326.318
(3) 1325.13269633 ‘ (4 —1326.326963
\/ 0.324%0.081x4.624
1.5625%0.0289x72. 9%64
(1) 0.019 %Y @) oo
(3) 0.024 (4) 0.023
3 1 7 lf3 8
= +8x3 2)+| = —
1+3 of (&, ) [5 25 {7 14}]
5 5
(1) 31 (2) 5
680 -13
B gy @ 150
The digit in the units place of (623)49 is
(623)2.&*, a5t FoS* wod wos
(1 1 2 3
3 7 4) 9

13-D
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47.

48.

49.

43259 9 8 Sordoso Sopgd HETY 5T) oyo 437 8 .eodRd, & Srdose Song
(1) 423 @) 347 : ;

(3) 823 : ‘(5,)/743

The least number which, when divided by 13, 15 and 19 leaves the remainders 2,4 and 8 .

respectively is

13,15 S08050 19 0B erhodsdyds S63m 2, 4 06050 8 o Idresn ad) 635 Sowg

A 3694 @ 3705
(3) 3703 (4) 3701

[f the sum of four consecutive even numbers is 228, then the product of the greatest and the
smallest of those numbers is ‘

——— comm—

TeoH S60 Jdlopge Ivgo 228 wond, ¥ Jopged’ K0L SHooin EIL dopge

oag;&»
(1) 3480 (2) 3520
B3y 3240 (4) 3560

The number of three digit numbers that are divisible by 2,3, 5 and 7 is "
$ 2 . — N Cr——— ey | SE—— '

mam_j__oa rhodwd Srdose domge dopg
(1 3 | @ &
3 s | “ 6

The sum of the digits of the greatest number that lcéi(es equal remainders when the numbers
135, 187, 239 are divided by it, is : ’

135, 187, 2_59 o FHoDILYE, 28 ‘é&&)jﬁ‘) {0 Bopgs*'d wose 3go
(1) 6 @ 7
(3) 8 {49

14-D
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2.

54,

12,15, 18 8o 24 oF TRODIVYE 98 Rodgoe s o8 73&:5»__9_&) o) o wose
505 Sowg

(1) 99792 2) 99279

(3) 99738 , (4) 99729

If a number k is leaving remainders 11 and 13 when it divides 3026 and 5053 respectively,
then the greatest value of k is

w Sowg k&' 3026 $:808> 5053 ok erAcRSSYE S 11 56050 13 eo Fareom

5%, kAom deos s
(1) 45 @) 30
LBy1s . ) 60

. Ph{u-z(zl_ﬁm*(zofm:
4 14202 46 2 3}

(1) 18 o (2) 36
78
3 39 (4) T}

The denominator of a fraction is 3 more than its numerator. If the numerator is increased ,
by 7 and the denominator is decreased by 2, the result is 2. Then the product of the numerator
and denominator of the given fraction is

B8 Do Dl H D oS50 ol 3 IS, oI5u 7 Bod, HoR 2 8k,
900 2 ©H&0d. wond _dg 95.1? ?Baaéz, 03, FoSne oyo.

(1) 15 a 2) 3

(3) 13 @) 40

15-D
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by 7, we get the remainder 3. Further if the resultant quotient is divided by 11, we get the
remainder 5. The least among those numbers which satisfy the above conditions is

" ¥ Sopgd 5B Al 53 Fasn 2. H0ckn © IS TR 7S a5 Wsw 3,
Sobe HOdom 6%«6 .")zfs'zn 11 3 2rAQ 56)‘) 3250 5 wowd, D Achirod ERIEH
Dopgodt AR dopg :
(1) 1347 (2)- 962
(3) 577 (4) 192

56. There are five committees A, B, C, D and E in an industry. Committee A meets every second
day , Committee B every third day, Committee C every fourth day, Committee D every fifth
day and Committee E every Sixth day. Then the number of times all the five committees
meet on the same day, in a span of 240 days is
28 JOESeS* A, B, C, D 0w E 3 o8 $08en déanon. g:»es A 98 BosS &',
$208 B ©8 Sordssian, E08 C @8 Tgidtan, 28 D $8 2856'=, s208 E ©a
658 2 SErIEST a0, Bowd, 240 Fwro KDHS* 2 EDoBed 28 G SSrBFSdlyg
Sorgoiro Rdowg

T (1) 24 @) 5 3) 3 4) 4

57. Inabook containing 25 pages , one sheet with page numbers on both sides is missing. If the
sum of the page numbers of the remaining pages is 302, then the numbers written on both
the sides of the missing sheet must be
25 hden SO0 EHRESt Dotk FYo D2 Jowd) Ko wE hiS EIVoIBL. WADS
Ddod Ko D Sopgo Iwugo 302 vond, VoS WiTH aIPeKe B Jowgen

(1) 13,14 2 11,12
(3) 12, 13 @ 1.8
W AP W BT T T, O B, R |
1 PO i I LS o B T Y o B 0B A8 R
12 20 30 42 56 72 90 110 132 156
1 10 1
(1) - (2) 3 (3) 2% .(4) e
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TTTTOTY Vv PR SnAMMALLG AVE WUV LVAL D YTALD 1> 070 Per

annum and for the period bé;éha 5 years is 10% per annum. If a man gets Rs. 1,520 as a
simple interest for 6 years, then the principal amount (in Rupees) is

. I0E8 2 BoSGress SG3en 2o5ET8 3%, SHE 3 SoSgek $os8TIE 8%
- 5000 5 Bos@Tre SHIS B03HTIE 10% mm God. 6 Dodoret o Sg88 SIS
rHIG & 1520 wond, vhen Finy Erdcbod®

() 3,800 : (2) 3,040
(3) 4,560 (4) 3,500

60. A certain sum of money witlf simple interest amounts to Rs. 756 in 2 years and to Rs. 873
in 3.5 years. Then the rate of interest per annum is ~

w8 DYES iy erOIFE Bods SoSTOK . 756, 3.5 SoSETess & 873
M ©J&0d. Yond HoS88 ';‘Jé’é&n

(1) 1% | 2 12%
Gy % - | 4) 14%

3 61. A sum of Rs. 2,200 is lent out in two parts in such a way that the simple interest on one
part at 10% per annum for 4 years is equal to that of the another part at 8% per annum for 6
years. Then the first part (in Rupees) is .

@8 Friop DoSHoAE 10% &' 4 Sosgros 5T ks, 36 wrhoD DoBg)o 08
8% & 6 SoSdoets 58) rbS§s SirsSochglin, &, 2200 308:) Bokd e
588 oo, eByd BndE Es (Srdabos)

(1) 1,400 | (2) 1,200
(3) 1,000 - (4) 800

62. A person lent a.certain- amount at 5% simple interest per annum. If in 10 years, the interest
© amounted to Rs. 500 less than the sum lent, then the sum lent out is (in Rupees)

8 ABHWS Jwa) wf Ig§ 5% oSO wrHSfs wiyr amyd. 10 SoSdoros*
Lons 3§, wiym oS Ty Kol &r. 500 S5, Sowd, wIYT oS ooy

(Srrarees®)
(1) 1,250 2) 1,500

(3) 1,750 - (4) 1,000
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64.

65.

66.

IV{UIITU W ETL all AINOUNL U4t 1S 0 mes the sum nvested, at the same rate of interest, is

Sod iy wHIFS" 6 SoSHTOKH BeYodPH0s. wod SFBLE, 1S S

6 3y Iogo SITIE, TSebS JoSEoe DSopy : | :
(1) 30 _ ) 24
<

(3) 36 - (4) 18

Ramana borrows Rs. 7,000 from a bank at simple interest. After 3 years he paid Rs. 3,000
towards principal amount borrowed. At the end of 5 years from the date of borrowing, he
paid Rs. 5,450 to the bank to settle the account. Then the rate of interest he paid is

850w 2§ engoso $08 rHSFE &, 7,000 wRym Bvommds. ST Bk wisess
m, Srdy Josdoe Shas &, 3,000 Bordo. wdy K &' Hod 5 S
D0 oroads grandd SwhoSas, o8 B85 &r. 5,450 Bowrd. wond B
BOoDS $§dew

(1) 4% | Q) 6%

3) 5% 4) 5%

The time in which Rs. 8,000 will amount to Rs. 9,261 at 5% annual compound interest is

(1) 5 years (2) 3 years

(3) 4 years - (4) 2years '
5% 03408 BESES' 8,000 Crirabe Ando r. 9,261 SIEIE by S0

(1) 5 Josghoen ‘ (2) 3 JosgHoen

(3) 4 dosdyoren (4) 2 %osdoes

A motor car does a journey in 17 hours, the first half at 80 kmph and the second haif at
90 kmph. Then the total distance (in kms) coverd is

w8 &5 17 fobo Bairnos’, Inds SKo Srowd) otk 80 8.5, Ifos'sr,
BoaS Jo &rord) Kotsd 90 8.20. JKos'H Bairaldiyod. vond BarBodS Jogo
Erdo (8.00.08%) |

(1) 920 (2) 800 . (3) 1200 - (4) 1440
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o pesaa MV AUIEAIUIU GLUU LIV VED LUWALUS [1YUeTanada al an average speeda o1 100 kmph.
Another train starts from Hyderabad at 2.30 p.m. and moves towards Bengaluru at an average
speed of 120 kmph. Then the time at which both the trains meet, is

(1) 5:30p.m. (2) 6:00 p.m.
(3) 7:30p.m. (4) 8:00 p.m.

Borbered, TEoers HiSe S5 Grdo 720 8.5, wf Beo BorbersHs HErgimo
3 fobro 2abesdd Kowdo 100 8.0, BKD IK0s* WréTard 395K 3QID. H5
S PECErS® Sogrgimo 2.30 Koo wohendd Koo 120 8.5, HKkn IKost
Bt IYIE ILHA. wond & Bok V&Y EOVIDYE BBoa0.

(1) cSo@o 5:30 Kon - (2) Scfowo 6 don

(3) &afogo 7:30 Kon (4) acSowo 8 Kon

A person travelled 150 km'by car, 400 km by train and 50 km by motor cycle. For this it
took 9 hours time. If the speed of train is 4 times that of the motor cycle and 2 times that of
the car, then the speed of the train (in kms. per hour) is " ;

& 558 6" 150 8.5, Deos* 400 8.5, Ho86H) ik 28D 50 8.5, BasrBomdd.
88 9 Hobeo Suaho HiJod. Beo KD Irird PES IS 4 Bewy S000 TG
SR8 2 B wowd, Jev' FKBn (fobkd 8.20.0%) -

(1) 75 (2) 50
(3) 100 4 (4 25

The value of k for which the system of equation 3x + 2y =k, 6x+4y=5 has infinitely many
solutions, is ’

BEECR S5 3x+2y =k, 6x+ 4y =5 5 wS08HoggE FES0 SOETIE Ko k Dewsd
) SOy

5 3
(1) 3 i (2), )

1

(3) 4 5

N
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solution, is

&3&2 4 and 3xtky = 5 ©% Hhosce SEIPs FES BEFSEIE o, k Jeod

(1 3 (2)

o= e

(3) s (4)

71. Two numbers are such that the difference of thrice the first number and four times the
second number is 3 and the sum of twice the first number and thrice the second number is
19. Then the smaller of the two numbers is

3088 Somyg BNE), SrdIdL Dend, BokS Hopg BE), T TL dende P850 3;
308080 I3 dowg B0E), Bgo@ Dend, Bodd dopg RBoE), Sordh> BY Jdende Awdgo
19 ecdbgiotnm ok DoPpged GrIYON. wond & Dok Jopgod' VHS

(1) s | ' @ 4

3) 3 4) 2

72. The sum of a two digit number and the number formed by interchanging its digits is 110. If
10 is substracted from the first number, the new number is 4 more than 5 times the sum of
" the digits in the first number. Then the product of the digits of the first number is i

wE Bodosw Dopg BN TAS'D woBOD S8 Sr0G Sodmr 5?3& Sopge Fodo
110. 3aeS Sowg Sod 10 d BRBLIHYE 5%) 58 Sopg, NG Jopgd'd wosw
30a08 538 Bod 4 A8y wond InG Jopgsd vose LRo.

(1) 64 : (2) 46
(3) 10 | 4) 24

73. The ahglc between the two hand of a clock at 4:30, is

4:30 % 28 K& E0S' Todd SR Sogg8emo.
AyTase ' ey 7550
(3) 60° : (4) 15°.
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T T T T T TSTIOTON) TUSSAN vRAN MU AALAANAG WA WM WAVWAL WLV G R GLEELV, 1D

7 | 5
(1 43ﬁmin past 7O’ clock & 38]—1' min past 7 O’ clock

9 6 1
(2) 211—1- min past 7 O’ clock & 54ﬁ min past 7 O’ clock

3 7
(3) 391—] min past 7 O’ clock & 3 lﬁ min past 7 O’ clock

10 Le o o 200
(4) loﬁ minpast 7 O’ clock & 50-17 min past 7 O’ clock

7 0050 8 Hobe Bodg af KAWBFESNS'D Bok Sneen LonE'mo BHED Sakren

e

7 i e 8
(1) 7 doboo 43ﬁ JS0ren Héasn 7 Kobe 38']‘-1- ddwen
A ’ {

9 i
21— ¥
'(2)/7’80690 T AdTen Hdoiw 7 Kobe T P30aren

. 3 7
(3) 7 foboe 3917 ddnren 08k 7 Kobe 3-1ﬁ diwren

10 10
(4) 7 Hoboe loﬁ JS0Aren Jocsn 7 Kobe SOTT DS0en

A wall-clock takes 6 seconds to strike the number of hours at 6 O’clock. The time
(in seconds) it takes to strike the number of hours at 11 O’ clock'is

w8 HBoSrEn 6 Hobok, dobe Sopsdh FLTRE 6 DEDHe dSicho B8,
' T - - '3 —— et e
11 ﬁoe.?oéo,. siote Somg FLEIE HEy Jdobo (REHDos')

() 13 (2) 10 3) 11 4y 12

The date on which the third Friday in the monith of January 1998 fell on
1998 2356 306" 50065 HETEo wons &b
20 @) 15 3) 16 4) 17
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e A

the week, as the corresponding date in the other mbnth, are -

(1) January & May : (2) February & May :
(3) March & June ' - (4) April &July -
o€ Jost AR3> e*éspo; 88 J0S* 0B 8~ TS uE S eddgladn O 558086

DoSHBoSB> dod uf 28 Jow. | §
(1) =888, % . 2) D58, H :
By gy, 25 (4) S, =8 |

78. Which one of the following pairs of years has the same calendar?
8ol SgES JodGore ados, I adkh 28 5758088 dotnod?
(1) 1993 & 1997 (2) 1992 & 1998
(31993 & 1998 o (4) 1994 & 2000 !

79. A cistern is normally-fitled in 6 firs but takes one hour longer to fill because of a leak in

its bottom. If the cistern is full, then the time taken (in hours) by the leak to empty the
cistern is : :
 WE 8 &8 TR0 6 Kobos® JokEos. 5 ") wdgrros® @) O5 So D '

o8 w8 fot> I8y S 50050 B8E08. HBEY Dok &oB, 86 So.s & b
B3N8 KNI vHooho (Hobeds) ¢

(1) 40 2 42 - (3) 43 (4) 48

80. Two pipes can scparately fill a tank in 10 hrs and 15 hrs respectively. Both the pipes are
opencd to fill the tank but when the tank is half fill, a leak develops in the tank through

which %th of the water supplied by both the pipes is getfihg leaked out. Then the total time
- (in hrs.) required to fill the tank, is

Cod DY BB a8 LrgoBodd IKHdm 105oben, 15 Kobeods® Qodrwy. Lrgo

NoJTAE o :.3?’.»0:’63 2330 80T %, 5 &rgoso Ef)dO 388 Q083 Shad, Lrgotods®

1)63&«5 i’)g S BodRYo To Hobed wond i3S %-5 S0 acHbB F&'0H. wond

5080 DodIDE TSI Bugo vaho (Kobeos?) |

~

A I
n 83 @ 73 3) 8" ) 7
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35 125 W ALV LILL AP LOUILICLICU WU @ WK, A and b logewner 11l the @ank 1 o hrs, B and C
together fill the tank in 10 hrs, A and C together fill the tank in 15 hrs. Then time (in hrs.)
taken by tap A alone to fill the tank, is

A, B, Cod S Beroned 2,8 Ergofds eloond. A Sodcin B £9% 6 fobeos*s,
B %8asn CE9% 10 foboes s, ASbosn CEOD 15Kobee s & Ergofod dodKed).
w08 Fow A w8 6irgofd Jodads 08T d%oa%o (Kobee®)

: 1 1
(Al) 15 (2) 10 (3) 102 4 153

A pipe can fill tank in 4 hrs and another pipe in 5 hrs, but a third pipe can empty the full tank
in 2hrs. The first two pipes are kept open for 2 hrs and then the third pipe is also opened.
Then the time taken (in hrs.) to empty the tank, is

%8 Y ErgoRd 4 oLos Sr, $67% DY 5 fobos'S: JoHLY. T oS DY
RO &) &rgofos 2 fobeods® 1rd Bobred. 2 Hobe rén IS Bod PO
860 o), ¥ SHIE SrdSHD Srar BT K. VI & Lrgod g ST Sy
Qoo (Kobrees®) ‘

(1) '15-‘,15 () . 16 (3) 18 (4) 20

; 1 1
In a partnership, Bhaskar invested 2 th of the capital for Zth of the time, Deepthi invested

I T - ' :
'-S-th of the capital for gth’ of the time and Raju invested the rest of the capital for the '

whole period. If they carned a profit of Rs. 7,83,000 at the end of a period, then the share of
Bhaskar (in Rupees) in the profit is '

: 1 1
a8 griidngSogos, Srogdos® Zé Soeod zé S0 FHooirds )6, Srogsos

1 1 -
gé S0&d gé S0 BHSrIE & Ho0osH WAOS Wredad) Ingo BIHSErS

T DERLADENED. Fo8 355H S0ADS SSHTE 88 . 7,83,000 oo 5%, orgos®
T8 T (rdrchos?) | :

(I) 72,000 (2) 66,000 (3) 48,000 (4) 75,000
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84. Ashish and Avinash have invested in the ratio 3 : 5 in a business. After 4% of the total profit
was given to charity, if the share of Ashish is Rs. 25,920, then the total profit (in rupees) in
that business is ' ‘

w8 JTgrdod’ sLd S0 ©ITRe Diywde A8 3 : 5. Jwdo oo’ 4%

SEErdgsnes P, oLl QWY T 825,920 vond, & Tg>Eos* Iwdo oo
- - TSy ’ . - t s p— .

(Brraees®) -

@ 64,000 (2) 172,000 (3) 84,000 (4) 96,000

85. Two partners invested Rs. 1,50,000 and Rs. 2,50,000 respectively ina business and agreed
that 60% of the profits shouldbe divided equally between them and the remaining profit in
the ratio of investments. If one partner got Rs. 4,000 more than the other, then the total
profit (in Rupees) made in that business, is -

a8 Frgardods’ agd eridrgsnen SKHIm & 1,50,000 So8a%o & 2,50,0000:8 Digwd
28, oot 60%0 JSSorSor HoHESEI8, 1ADS o) T8 wipade A8
SoE'ST 8 V0BT, 2.8 iIeNE BodSTd §08 &> 4,000 S IN, @
TgToSt FodS Iwgo ergo (SrdodHedst) '
(1) 40,000 _ (2) 50,000
(3) 30,000 (4) 60,000

86. Sncha, Lekha, Rekha are partners in a business. Sneha, whose money has been used for

1 . .
6 months, claims -6-th of the profit. Lekha, whose money has been used for 8 months,

1
claims Zth of the profit. Rekha has invested Rs. 4,200 for 10 months. Then the
contribution of Sneha (in Rupees) to the capital is ~

uf 5'33'666‘ ".0_13’1", S, dpew e Adgdoen. 8:6 é'é.n&éa 6 Sven énwdm
l B

GRS 'fo‘l:{r ergloes* 5

S S0, &5 IS 8 Jven GIErAoDS Sy ergos®

i _
7S S0 EHaS. B 6r.4,200 0% 10 Ivek PeR28 DYod. wond ool

4
'fo‘l:r J5oErGS Aoy (ErSrchost)
(1) 1,750 (2) 2,500 (3) 2,250 (4) 2,000
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After 6 months, C joins them with Rs. 3,00,000. ATIN€ €NQ O NE YEal 11 WISy Fut &, pruis
of Rs. 80,000, then the share of A (in Rupees) in the total profit, is

A 28 ogFroR) & 1,00,000 & @dodomdd. Srdd Joo S &r. 2,00,000 &

B 0826* dood. 6 3ow S &r. 3,00,000 08 C 508" 0. Hos&orodoS® &
Fgrsos” &». 80,0000 oo 5%, wgo oo’ A Tir (rdrobeod)

(1) 27,000 (2) 20,000
(3) 30,000 (4) 25,000

88. Hari and Madhu started a business investing amounts in the ratio 2 : 3. If Hari had invested
an additional amount of Rs. 10,000, the ratio of their investments becomes 3 : 2. Then the
amount (in Rupees) invested by Hari, is
58 So0csn Sodoen 2 3 IQBS® iy Diydm Y a8 TEHTY @dodoTdd.
510,000 © ©E3Y oy T8 Digwdm DY 08, 0 innde QS 3 :2
wHS0d. ®ond T8 YW Digwd Iy (Sr>oHos?)

(1) 12,000 - (2) 15,000
(3) 8.000 : - (4) 18,000

89. Varma opened a workshop investing Rs. 1,00,000 and invested an additional amount of
Rs. 10,000 every year. After two years, Sarma joined him with an amount of Rs. 1,25,000.
Thereafter Sarma did not invest any additional amount. After completion of four years
from the opening of workshop, if they eamed a profit of Rs. 2,13,000, then the share of
Varma (in Rupees) in the profit, is .

5. 1,00,000 Depwds* 36y of SGIHH FEoPod, BEDIGHIID wdd séSom
&, 10,000 épad Digd. Bok dosST o ShTd & 1,25,000 3xg0&" 35y oddd’

| Bord. & SHaE €6y 065 e O DT DHBE. 3G, IY FToHoRIHS
$08 Teok HodEyTres Yrgonstyls ad & 2,13,000 e 2038, v oFod
38 T (Er>rchos?)

(1) 1,38,000 (2) 1,56,000
(3) 1.88,000 (4) 1,75,000
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beginning. After 6 months, Vijay invested double the amount invested by Naresh and after
- two more months, Madhav invested thrice the amount invested by Naresh. If they earned a
profit of Rs. 45,000 at the end of the year, then the share of Madhav (in Rupees) in the
profit is : :

S8R, 2D, SrES € igS0g0S® (BIoT &, (P Bogfoesst $ER Fod Ined) Déped
Dipdo. 6 Jvw SHTE FOD DiRwES obode InaR) DuohH DA Dipdd. &
B0t Jve $had SR Dinwaé Swrrdode IR SHIE SrES Depad i
Sodgrodoss® K &, 45,000 o) Fob8, @6‘06‘ GRS T Srnes®

(1) 12,000 (2) 9,000 (3) 25,000 (4) 15,000

91.  When the length of a rectangular plot is increased by three times, its perimeter becomes
* 440 meters and the area becomes 7200 square meters. Then the original length (in mtrs.)
~ of that plot, is : ) '

8 8%:5606@5*652)‘ Féo Do), FEHH Sordivdn DoDIHYE, T Soinsod
440 Dotasy $o0008 Breogsn 7200 SEEH Db BHEaw. wand Fn oY, LHe
2dY (Derges’)

(1) 50 (2) 80 (3) 60 | (4) 40

92. The perimeters of a square and a circle are the same. If the area of the circle is

3500 sq.meters, then the area (in sq. metreé) of the square is (Here take 7::272)

uf SDISS0 bt & S)E50 B, SdpFoder S5r350. S)E JTogo
3500 .50, wand, S AwE, Iroge Shes (% 4 ,;:%:- 855808)

(1) 3000 ) 2750 (3) 2500 (4) 2250

93. The area of a triangle is 1445 cm2. If the ratio of its base and its altitude is 2 : 5, then the
sum of the base and altitude (in cms) is

o8 BeHmIn g, Froge 1445 S0, TR D $H0H TD KB G 2: 5
®oX8, 4 Dok BFHBe Iwgo (Wo.M.osY)

(1) 112 () 119 (3) 85 4) 289
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- - TITT TTORDTIN STASTS A vmLanAs WA WAW LAVUA WA G LG GLV TV IRWE GHU LV IGEL ILDPTLLIVELY. Oyualc
tiles of area 4 sq.ft. with three different colours are to be laid on its floor. Black tiles are
laid in the first row of all sides. If red tiles are laid in the one-fourth of the remaining floor
and white tiles in the rest of the area, then the number of white tiles laid is
w8 S AwE), Jo D8P, Idevyen SOOI 40 wdHe, 20 edirben. 4 FEEYH sdohe

BTogo 50AS Surd D) Sofhre SEIFTEY BED JoD H6TO. © Yo s

y 1 : ;
SIS $0d BE) HETO. WADS ISV I S0 IGI BESW, 2088 WAd

4
&%) ardo (S0)p 8 BESH 568, H80S 8ud &8 Sowg
(1) 36 _ (2) 56 (3) 108 . (4) 200

95. If the cost per sq.meter for making a garden is Rs. 150, then the cost (in Rs.) of making
a 14 meter wide garden around a circular field with a diameter of 140 meters is

22
(Take 7 =7)

L]

w8 SE6H Dotod> RS doyEras welog Sgewo G 150 eawd, 140 Dobag g0 S0AS
RNESCY §'0 Dby 14 DbE Igend* o MYSSH PSEIE ey Sgano

22
(Erchees®) (ﬂ=7n‘ 8508'08)

(1) 15,40,000 - () 67,76,000
(3) 44,00,000 " (4) 10,16,400

96. If the radius of a cylindric,al_tvessel is one-third of its height and its inside area is

: 22
3696 sq.cm, then the milk (in litres) it can contain, is (Take 7 =7)

2

3 S Sod So0ain & w086 (¢%50)

28 BgFES MG Dok, THRGED TV IKS'

. ' 22
ST s 3696 $5.20.00. w008, vokHeS* 3 oo dLYS* (7[’-:7(1" &508%8)

(1) 25872 . ‘ (2) 28.634
(3) 24.598 (4) 27.789
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- ShaessEaawy WU wAwewsr vv - TARYIAY Sw WAL WA VT WAl WIv MW DWIHIMIVUIIWGL W wGviE Viliwia, B4

the | tnanglc is revolved about the 13 cm side, the curved surfacc of the cone so formed is

(Take 7= )
(1) 21450 cm? . | (2) 22440 cm?
(3) 22176 cm? (4) 20570 cm?

&8 Beheod’, 13 0., S8k 84 Do.do. SEPKe Dok ghered HEHEEN vowdwm .
Gaow. 13 Do Ko hao Hhy s B EHoo TR 63 foh AwE, JEso

22
STogdn (7 =-:7—n' &3084)

(1) 21450 $. 0.5 b (2) 22440 SDo.5o
(3) 22176 S oo (4) 20570 $. 0.5

98. A hemisphere and a cone have equal bases. If their heights are also equal, the ratio of their
curved surface areas is

w8 SA'YSL Sbain 28 oo Hrdven (oow) RErdSw. 8 dRw oo
SIr3d, 28 SEdo Irerge ARG

1 2:1 2 1 @) V2 @ 142

99. A solid metallic spherical ball of diameter 14 ¢m is melted and recast into a cone with
diameter of the base as 7 cm. Then the height (in cms.) of the cone is

142000, Fgds0 EOAS w8 KY (WN) A'es8 'Y 208D §6A0D, 7 Do.oe Fgdo
o a8 oYM 80N FSFFD. eond © FoHhY K (Vo..od*)

(H n2 . (2) 72 (3) 96 (4) 84

100. Five metal cubes of sidc:s 9c¢m, 6 cm, 3cm, 3 cm and 1 ¢cm are melted to form a.cube. Then
the side of the new cube so formed is

(1) 15cm (2) 12em (3) 8cm (4) 10cm

9 20.8., 6 20.0., 3 0.D., 3 0.2., | Do.D. Zhasveor EOAS 5 S DHSSooH
E0h00 o8 ISswum Srdodod. 9636.) Fgm Sr>rodsS 8 Dlo RBE), ghao

(1) 15D () 12%od  (3) 8o (4) 10 Bo.b.
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he sells it at Rs. 60 a litre, he gains Rs. 1,500. Then the quantity of milK ( In itres) he
purchased, is

T oE DOEHTHRE ) Feo Fotrdd. v dLd w§ o8 & 50 THS vdd,
©88 &>, 2,000 Sho 5508, S 8§88 &r. 60 THYS ©2yB, & 1,500 oo
353308, vond wEdH FF) o Hodredn (dLgS)

(1) 350 (2) 250
(3) s0 4) 100

102. The marked price of a Television is Rs. 24,000. The shopkeeper allows a discount of

20% and gains 20%. If no discount is allowed, the gain percent is

L€ BOI2S QwE, EE58 Dews &, 24,000, u¥ EEEEEE 20% SRyt and)
20% ererd) doberdd. B0k alEdd, orgrdo

(1) 25 @ 50

(3) 30 - (4) 40

103. Sasi sells a gift article to Latha at a profit of 20%. Latha sells it to Prabhu at a gain of 15%
and Prabhu sells to Vasu at a profit of 10%. If Prabhu sells it for Rs. 759, then the cost price
(in Rupees) at which Sasi bought the article is '

12 o€ AY BRESH vss sindo T 20% CE) FobHed. 08 TAD BEOS
eindo oot 15% owrd) Fodh&0d. ©HE TAV PWH eibo oot 10% orerd)
Fotoerd. ©565 @AY &r. 759 § w8, ¥ & BRESH FHGE (Errehes’)

(1) s25 @) 426
(3) 500 (4) 693

104. A trader allows a discount of 10% for cash payment. How much percent above cost price
must he mark his goods, to make a profit of 8%?

o8 g0 SKS BQoLIH 10% &2y 0o agd. 8% orard) FodEIE B8 SRHOD
F'%) §8 508 Jod Tdo ST (HEBS 6K SrdoTd?

(1) 10 2) 12 . 3) 15 (4) 20
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. at ivﬁgrrrupce. He mixes th'cm.lqgethcr and sells them at 4 per rupee. Then his gain or loss

106.

107.

108.

L1y e o o (2) 22 3) .11~ 4 2

percent is _
(1) 20% gain (2) 20% loss
(3) 40% gain ’ (4) 40% loss

w8 558 w8 Crdowd 2 TUYS uf NBF Jopgs* TEBLR Fand. o3 Sopgs* o
Srdrond 3 TS S Fd. 3G ool §0D Srdrond 4 TES em&é. I8
5B ergidn o SJTSS0

(1) 20% ergo () 20% Sgo
(3) 40% ersso . (4) 40% Sgo

30 men can cut 54 trees in 9 hrs. If six men are dropped from the job, then the number of

trees that will be cut by the remaining men in 10 hrs is

30 508 Sg5e0 54 BLS 9 Aobos* SBEIRG. EHHE SkoH © 53 Hod SNk,
o ——— . - gu——

WHOS 08 10 Hobos* $8828 BY Sopg

(1) 42 .=, (2) 48 ’ 3) 52‘ ' (4) 45

A can do a piece of work in 4 days, B candoitin 6 da.ys::and Ccandoitin 8 days. Then the
number of days required to complete the work, if all the three work together, is

wE DA 4 Swos' A Bohrod. sd35 6 Swos' B, 8 Faed® C Schiod. &
Sohir Sod HIFE © 530 PO BoHTIE SSedS BSSwe Bowg

11 11

13 9 9 13

A and B can do a picce of work in 12 days, Band C @do itin15daysand Cand Acando -
itin 20 days. Then the number of days required for A'to complete this work is

A, Ben a8 532 12 o BohioH, B, Coo 8 533 15 SFreod's 0050 C,Aw

©3 3D 20 SrodstSs Johiod. ®ond & HAJ FE BoHa s A sS0dS BSSwe
Sowg '
(1) 30 () 35 (3) 25 4) 40
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If they work in stretches of one hour alternately, Ram beginning at 9 am., mowing will be

- finished by
(1) 530pm. 2) 6pm.
(3) 630p.m. - (4) 7pm.

S 50050 T B oG Sgkoen, DEIBM HIVVIBIE Sob B0 §' Eosbisd
55dm 8 S080k0 12 otsen 5'Td. T 280 ST d SFEHM ol Kobdrdn HAVAT,
G800 9 Hobrok oo HAY B0, F'EI JoFPiodglHt3s Sako

(1) chHogo 5.30 Kou (2) oo 6 Kon
(3) chogo 6.30 Kou " (4) oo 7 Ko

110. A and B together can do a piece of work in 12 days which B and C together can do in
16 days. A and B worked together for 5 days and A left the work. Then C joined B and after
2 days B leftit. It took 11 more days for C alone to complete the remaining work. Then the
number of days required to complete the total work by A alone, is
A, B e £0% a8 332 12 Saed® Sobiod. @d 333 B, C e 00 16 Swrods®
BoKed. A, Beo 85 5 Swren SIBNS S8 A DD 3603y, S8 B &
Cdordh. 8 $has 2 Saross BIIJ 5693eyd. Cad) a8 A0S 5D Fg Schars

506 11 S'aren HiJ0d. wond Aa§d Ingo HAV F§ Ve Al sSodS B3Swe Jopg
(1) 32 .8 () 24
3) 48 | .. @) 16

111. If ten men and fourteen women can do a piece of work in 6 days and fourteen men and
twenty four women can do it in 4 days, then the number of days needed for ten men and
three women to complete the same work, is

H8B008 YD, S Hod @oo 28 DAY 6 S0 Sr, Sgrentd Hobd YHHIw,
REZ Toord $008 Reo ©8 S 4 Fwesis BaHAONS, Hd%08 YHDed SoBokn
Sy Geo ©d 5AD g BoHEIE THORS B3SO Jowg

(1) 9 s (2 8

3) 10 5 4 7
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113.

114.

115.

A €08 BBoBoden Jsor Hddchiok. $HI w8500 A god B 20 855we Swod
8 Sobhod. sond TOLEH 0D SAFR © 53D Y Bewroh SHocho (Ewes?)

1 1 1
(l? 14 . @ B3 3) 223 (4) ISZ

Aand B can do a work in 45 and 40 days respectively. They began the work together, but A
left it after some time and B finished the remaining work in 23 days. Then the number of
days that A worked with B, is _

A 508050 B oo 2.8 5 $5%3m 45 Sooain 40 Swest BobhRod: 36 sob 5B
IndernSS Fod 5erd8 Ae DI $EOIeydo. WADS DIV 23 Swed' B Id.
wond B & S0k ADATDS 85Sne dopg .

Mmoo - @) 8 @) 7 ) 6

A man and a woman undertake to do a piece of work for Rs. 870. Man alone could do it in
4 days and woman alone in 5 days. With the assistance of a boy they finished it in 2 days.
Then the amount (in rupees) that the boy gets is :

28 OB, é 28 HAD &, 870 § Hoa A8 LohEdo . PHD 08§38 © D
4 Fwod'ir, & 2§38 ¢ 5 S Swes'H Babrod. u wed IFFaos’ FH ©
5 2 Swods' Y. I3, vond, v wends IF) I (Er>rcHos’)

(1) 220 @) 170 - (3) 78 (4) 87

Four men and Six boys can carn Rs. 2,100 in 6 days. Seven men and cleven boys can carn
Rs. 6,250 in 10 days. The number of days required to eam Rs. 2,250 by five men and eight
boys is '

Seofods Hhotoes, BEKE ek 6 Swest & 2,100 So>BosKed. DK
JHDoen, HEE 008 wrendd 10 Swreds® &r. 6,250 SododKol. 2 YHDw,
I PebebTA &o& wrendio &, 2,250 Jorbodards 5TR0NS addne Sopg

(1 8 (2) 4 | 3) 5 ' @ 7
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116.

117.

118.

119.

247

A, B and C together earn Rs. 3,000 in 4 days. A and B together earn Rs. 2,750 in 5 days, B
and C together eam Rs, 2,700 in 6 days. Then the daily eaming of B (in rupees) is

A, B, C e 500 4 'aod* &». 3,000 QoFBAD. A, B e 50% 5 'weod® 8. 2,750
DoFrdZW, B, C oo 5805 6 S'wros’ &r. 2,700 S08RcH. wond B Gwg), o8 &'
QOFES (Er>chHeods)

(1) 150 (2) 200 (3) 250 (4) 300

9
A, B and C won a contract to work for Rs. 650. A and B together can do 3 th of the work.
Then the share of C (in Rupees) is

A, B, C e ¥ Solrf 532 & 6508 Booas aisyodo Bosam. A, B oo agdr

9 ‘ :
0% E;S So& JHAD Bohked. sond C Rg), T (ErdrchHes’)

(1) 150 (2) 300 (3) 250 (4) 200

A daily-wage labourer was engaged for a certain number of days for Rs. 5,175. As he was
absent on some of the days, he was paid only Rs. 3,600. Then the maximum possible daily
wage (in Rupees) of that labourer is '

8 Bwsed SO £ Bsinosmss 6. 5,175 & LE5S* dohDosamds. 5
§Q) BSSwen Ao ad shdo So 988 $Seo &r. 3,600 SrEdh BYoT . wod &
50 88 a0SgSAS ateke &8, (Srd>chHeos®) : '

(1) 225 (2) 250 (3) 275 (4) 300

-3
The wages of 15 women for 15 days is Rs. 45,000. If the daily wages of a man is 3 times
that of a woman, then the number of men required to earn Rs. 90,000 in 25 days is

' 3
15 S008 @oéo 15 ol &0 & 45,000 28 JH0E BISrD, @o‘ 838,98 2 o
o8, 25 S'wes® &r. 90,000 SoFrdosTAE BIobS Yoo Sopg

(1) 14 () 12 @ 1 4) 10
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between his house and the target is

Aotk 4 8.0 Jrod' SR w8 $58 ©E 208 Hod L&D o5 10 dswodren
solgom BBl . e ot 6 8. Iros® S8, S OFgR) FBS JHoasrDE
Bsotrdh. ©e0d ©8d 208 Kod STIIS Ko Erdo (8.0

(1) 2 | (2 3
() 4 4 5

Select a figure from the Answer set, the contents of which best substitute tﬁe question
marks in problem set such that fig.{iii) is related to fig. (iv) in the same way as fig (i) will
be related to fig.(ii) '

S0 (1) 8 Swo (if) & &%) vowoso Fo88, Bio (iii) & swo (iv) & #odbatm,
PHORe FIos* HoGS Begimoon fo Hrd), SSrESIWNE $08 0T Bw.

Problem set ér»a-s DS

?:.A::O:?

(1) (i) (1ii) (iv)
Answer set : 337508 08

'V,OJAQV ola o

M ) & v @O (v] 6 (v /

125 ) 3) @ s

Directions for the questions 122 and 123:

122 S6c8 123 ok Jfdse:

There is definite relationship between figures A and B. Establish a similar relationship between
figures C and D by choosing a suitable figure from the Answer set and fill (D).
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122. Question st B#Ho S8

Answer set 257200 308

Answer

TORSe - T T T, T .

:SoaaoO‘Q) oq)csa ab&o:‘s S :);Src‘é B8 $rod .).‘631&‘&) (D)__‘ doHod.

(g

O)-

>

A

B

C

8

g

© | £

O RN /> S ) @)
123. Quéslion set Ho Sé

:~: - 1-|-H H-IH + ?
X
A B C D

set 2arane [

== X e X

: & — = >; = —
(1) @ B @

35D -
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125.

247

clement (ii) in a particular way. Findout the figure in which elcmcnt (i) is not related to
element (i1) in the same way and write your answer.

808 BHS adyS (1) Hod (4) Ao dLEves' Srdolis® Ko Sarolo (i) , Sroso
(1) &' 28 /Y Sowor) EOA Gotwod. Surelo (i) § Swreso (ii) 8 seovol aomot:':)')
00 c:ocSD .Jéao:&: B dSrprsomr oohod.

Nl AN

I
M | G ) (i) @ | G G 1 G

(1) L2y (3) @

Out of the four options (1) to (4) three have a relationship similar to that of the original

“pair. Select that pair of figures which does not have a relationship similar to that of the

original pair and write it as your answer.

Foord adEren (1) ©od (4) &, vden 28S* Ko HopoTR) AVSLD Jordd GINE.
oo 28" fo Sowodo wrodid B aRsY) 0D, TV D JrgIor Taod.

Original pair @den 28

NS

Answer Pairs 88058 28en

SRREE\CE
(1) ) 3) A7

36-D


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

. . ~ TTUNT TS QTTTUA S AW ANRaAW VY WA UJ
four numbered pair (1) to (4) of figures (Answer Pairs). Select the pair that has a relationship
similar to that in the original pair and write it as your answer.

Bod adcdd 126 Sodas127 BHOS®, a8 Sowodo EHAS JLdwe 28 (wden =d) &
e, (1) Sod (4) Qopged* Jrdodadsd dLsnen d5roS ade GO0, VI 28S°D
Sowogo S083 LOAS =E DRER AV JErTSor oPeod.

126. Original pair wdes 2d

ola]

Answer Pairs 38> aden

Q@DQD@AW

(1) ) 3) 7

127. Original pair wde 8d

ol

G | G

Answer Pairs 335008 2den
[

G T L

(1) @ B @
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and so form a group. Find the odd word that does not l;élb_r-l'g to this group and write it as your

aI}SWCT .

ol 2SdS 128 Hdakn 129 PHOS'D Tenk oOFod’ Sard wf AZ] 5¢os* eddgom
“0dbo Sg ¥ DJrirom GiEeaD. & SLETIE Bosd DHWS DY) EHF A

SSrgrSonr oco%0d.

128. (1) Debit (2) Deposit (3) Deduction (4) Withdraw
(1) @& (2) aazs 3) a4gs (@) 28

129. (1) Ruby (2) Sapphire (3) Granite (4) Topaz
(1) &o (2) =& . () we3s 4) &>5

In the following questions 130 & 131, the pair of words in all the choices (1) to (4), except one
bear a certain common relationship. Choose that odd pair and give your answer.

@66 25285 130 o0 131 PHOSD 25T (1) Dod (4) oe* w8 28 285, 88,8 &)
28000 Jore gy w8 YIS FBeSy Sowodo God. BIE HHS wEDH ST D

23208 ooHod.

130. (1) Petrol : Car )
(3) Garbage : Dustbin : (4)
WL oE's: o8 , 2)
(3) moyd : 4ges ' 4)

131. (1) Death: Disease 2)
(3) Grape: Wine (4)
(1) 38: abs )
() @5 : 35 )

38-b -

Ink : Pen
Lead : Pencil
208 : DS,

88 .':)&).‘);5

Milk : Butter
Crude oil : Asphalt

3363, c a8

§r8 sons : DangE
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WA TTT T ST va s wvavavas (1) W) @ BIOUD UL ICUETS are given, all ot
which, except one have a common similarity. Choose the odd one and write your answer.

$o8 BHS'D (1) Ho0d (4) 56% Ko PYTOS* §'R) wEE Ssnorahsnes 2883, el
85y PADS LYoBS* wE FErdg FErdgo S50, T8 YL T AZNE D S-S50

’ 0°00b.
132, (1) NJLQ ' (2) TPDC
(3) BKDF . | 4y QLTF

In the following question, out of the four options (1) to (4), three are alike in a particular way and
one of them is different. Choose the different one and give your answer. A

808 @HS* (1) Sod (4) 6% Ko e POFOSN Srdd 28 PP GBS 23 Do
BT, 288 Sr@o PHom &HB. PHor GHEIX IS, D JSrEEo o0,

133, (1) 3214 - (2) 2332
(3) 3205 ° (4) 2015

134. From among the four given figures, choose the figure which is different from the other

three figures.
S Teorh Bros’ 86 Sk Siross DHom &%) DL IM0)FHoB0,

=ikedig

o0 e @

In the following question, the four problem figures have a common feature. Select a figure from
among the answer figures (1) to (4) which has a similarity to the problem figures and give your
answer.
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(4) &* 38 Dero So08, & Frdgoadn fo Jrd) IS o Jdrgrsor orohod.

VA DA

135. Problem figures $odrg Sbodnen

3

<

&

A

B

C

Answer figures 38058 SoSnen

D

>

Q)

A

i

(1

)

3)

S

In the following problems 136 and 137, there are two poblem figures followed by four answer
figures marked (1) to (4). Choose the answer figure which has the same common charecteristics
as that of the two problem figures and write your answer.

@ocs Qg2dS 136 Sodcin 137 BHost, Dok Sy Sired® o, (1) Hod (4) oB
KQoSwadS JBreS DHire BT, B0k SWFFHLTOSTEr Ko PSrSgosErod §08 &F)
BEPTS S IKYFD, o BIrErEe TeHod.

136. Problem figures Soarg dtodnen

w
XX |
] 7

Answer figures S80S Hiodnen

i

@ (f‘

(1)

s

3)

S
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Answer figures 3300508 Hérven

—

=S| 8| B @

Mm@ B @

138. In the following question, an unfolded dice i given on the left side while on the right side,
four options (1) to (4) are given in the form of position of dice. Choose the correct option
which is formed by folding the unfolding dice.

Bos BHS!, IEHTHS HESHYD ¥ SDE oPBAIH. ©ATGS PO Fssno
S0t Toorh aysres (1) Sod (4) adgEBSD. 568 LD FOESH HES DS

)3 $6GI 2YSRY INYED, SErTBo T4,
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808 Jtrod ed FOE By, Sk Foadoen I, I, I aswssd. ©od 1 fe Sogeos
AHOM @) Sopsnd $0d wod D&?

2 6 1

[ II v I

(1) 6 A2T 5 - 3) 4 4 3

Directions : Read the following information and answer the questidns from 140 to 144.

Jg¥sen : (Bod SSrTorR) €6, 140 Socd 144 585 Ko PHOH IS eIS50 orood.

A cube is painted red on two adjacent surfaces and black on the surfaces opposite to red surfaces
and green on the remaining faces. Then that cube is cut into 64 smaller cubes of equal size..

&8 PS50 AN, Bod BIK) eBosrRH Y Sofd SoHdSs. AP eBsgero
IHDM &8 $308r0k Sudor JaHnaIE. AS SBoST o BlSHT JokwsSs.
VR B PIQ) BErS HOSrwo fio 64 O Dwm §D Lo . t
- b el 3¥

140. The number of smalier cubes having only one surface painted is

&8 al0dog SMED Sord SchdS OF) wIswe Sowg.

oy 8 Q) 24

(3) 16 (4) 32

141. The number of smaller cubes having atleast one surface painted with green colour, is
BB Gor IeowsS G508 E986 eH BT LA %) dssne’ Sopg.
(1) 8 (2) 56
(3) 24 Wy 32
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1944,

143.

144,

145.

1 ne numoer o1 smaller cubes having three surfaces painted, is

Sardo Sofoso 0AS eBOSe Ko OF) Hisine Somg

(1) 8 orie

(3) 24 (4) 4

The number of smaller cubes with only two surfaces painted, having one face green and one
of the adjacent face black orred.

&8 Sopin sRBFHTorDd, s s3S)som DF) 28 SpInD Sen Bo AHY Sod
§0A, Bodkd 66650&»&) SrEDH o FchadS D) DsSoe Sopg.

() 28 (2) 24
B3y 16 - 4) 8

The number of smaller cubes having no surface painted, is
3 630800 DI BB ) Idwe Sopg

@0 . (2) 4

(3) 8 v 4) 16

In the following question, find the figure out of the answer figures, that can be formed by
joining the pieces given in the question figure.

808 GHS", BHBLOSt oSS Frmoss ©8LoST 26yd 5Lrd), dSrmSsire
%08 EHR G50 i ‘ '

Question Figure @) ddo Answer Figures 335578 Hirren
= [Be|6]¢
2N
(1) % 3) “4)
43-D
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relanonshuip, between each pair.

146 S04 151 $68% do PHokH JFises: B8 ud oGy a8 DS SoworR) WEB Ho
(Sored’) & Froohidn.

146. Tadpole : 2 ::Caterpiller : Butterfly.
(1) Crow (2)

(3) Fish , (4)
ra&F>S 2 :sLbes: a:éoé“g
) € ' 2)
3 % 4)
147. Indolence : Beaver:: -2 _: 2
(1) Elegance, Peacock (2)
(3) Passivity, Cow (4)
aobsas‘) : BSE : 2 2
(1) domrs), b ()
(3L 2%08, T (4)
148. A: Winter : : B : Malaria
(1) A=Quilt, B=Quinine )
 (3) A=Cold, B=Mosquito 4)
A::)oéoé'::B:;‘saB.bog’:g- '
(1) A= ssg_,a?gsgs )
(3) A = 8¢, B=Solyes* (4)
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Goose

Frog

&h

Ferocity, lamb
Joviality, Hyena

'b_&‘:)éS, @5.)‘)
205008, T
A =Cold, B = Epidemic

A= Wool, B = Fever.

A=8¢, B=25308
A=&dS, B=036
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BT e ATANAY ALY 4 8 AL T Ammms T o e e o -
-

(1). MEUBG (2) BGMUE . (3) EBGMU (4) MUGEB
PR < . 12
150. LS OH:: 2 :Eg .
(1) PK o (2) HP
|
() KX (4) XK

151. 7544 : 5322::4673 : 2
T3 2%

R o e |
(1) 2367 2y 2451
(3) 2531 : ' (4) 4472

Directions to questions 152 and 153 : The given three words are related in someway. Choose the
_option having the same relationship among the four given options and give your answer.

152 %6050 153 BHok Fdser: daodos’ M6 ddom Sowolo SIS Sardkd Sorexn

S0, VEIEDS Doworrd) LOAS 2NE'R) QS Teid 2o 08 IZNF BT WO

1d3c0d.

152. Magazine : Story : Article : :
(1) Tea:Milk:Sugar

(2) Television : Newspaper : Entertainment
(3) Bed : Quilt : Pillow

(4) Novel: Drama: Literature
W8 D), : DES

(2) BoOI=S : Ss-s‘eé 206 : Jobb B0l
(3) B6:4S: oS

4) S'5E: @se : dLSE
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153. Researcher @ HiStorian @ dCnouar :

GET IT ON
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(1) Epic: Novel : Book (2) Teacher : Graduate : Poet

(3) Teacher : Professor : Leéturcr (4)
oéd‘ﬁ: ﬁ‘i%OQ’SJS : (%'-2,06' :

Ilistory : Story : Book

(1) 296 : $86: mE 2) B35 : rhogcols | i o

(3) &6 : @6 : BYSS (A %0 : 0wk

Directions to questions 154 & 155~ Three words are given in each question, which have something
in common among themselves. Out of four given alternatives, choose the most appropriate
description about these three words and give your answer. ;

154 538050 155 HHos Fises: HHHS* Sord dTed GFjow. TES* G w8 dglgin
608, aYS Tl DTS, § SrdkdTod D380 E1S PYFY IRYFD H aTWOD

orasood.
154. Stirrup : Anvil : Drum
' (1) The items are used by riders (2)
(3) They are musical instruments (4)
uR ST vesy -
(I) T&hoo asErhon SRHeo @)
f})/esb g Doso e (4)

155. Supemova : Protostar : Red Giant
(1) These are kinds of stars . (2)

(3) These are stages in the life of astar  (4).

Brd6Sta ¢ @PE'Y6 : B8 zmoBols

(1) 2d dos s

(3)/«9:.) SEgSoderos ™ Jebgen

(3) ad 8 a8 DwE), ze:)éog'i‘:o go.no)
(4) 2D drdgd oty BOAD
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They are parts of ears
They are used by folk artists
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These are members of galaxies

These move around the sun.
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SOmelnng in COMMmon among memseives. LNo0Se ONE out OI e Iour given arernauves, wnicn
mentions the quality common to the three given words and give your answer.

ad 156 H8asn 157 PHoH Ag¥sen: $od B8 PHS' ol FIrsy (B5)8) vfwo $OAS
Sorcd Sdoen Ganow. & Srdods Ho FSrdy M) drdod S QNS Tl
oFe 08 AT  dS5rpdo oohod.

156. Couplet : Sonnet : Limerick

(1) Prose (2) Songs (3) Lyrics (4) Poetry
85 : 55 : 05008 |
(1) @& (2) #of 3) oof (4) on®

157. Wasp Cnckct Beetle

(1) Insects (2) Pathogens (3) Microbes (4) Pesticides
SR g8 : D8S
(1) =as%f) (2) >&'=)) (3 E) (4) 2R

158. In problem figures, A and B are related in a particular way. Establish a similar relationship

between figures C and D by choosing a figure from the answer set that would best substitute
fig (D) in the problem set.

SHorgdired' A Hoain B o8 A8F- égad‘ SoworrR) 89 éanow. C So8aiw D
Stro Ho¢g soroll So05d) JEEELrIS, SSrES S8 Hod JSHoAy SWESW
S0 (D) 8 ¢85 Hegimaichy Hird) J8)Eosw.

Problem figures SSoarg Héren

1O A

A B C D

Answer figures S8rgrd déren

SO

(1) 2) O
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129,

160.

161.

162.

Inacertain code language, “COMPUTRONE" 1s written as "PMOCTUENOR’. Then, in that
samecode ‘ADVANTAGES’ is written as

28 DPFILS 6 grae® ‘COMﬂLi'I_h(_)NE’ % ‘PMOUTUENOR’ ©d @6, «d §'6¢*
@59d ‘ADVANTAGES' 638

(1) ADVANSEGAS y (2) ADVTANSEAGr

(3) AVDANTAGES (4)—AVDATNSEGA

In a code of language, ‘ORGANISATION’ is written as ‘CBDWLQJWYQCL’ and
‘OPERATION’ is written as ‘CXFBWYQCL'. Then ‘SEPARATION’ can be coded as

28 58 erie* ‘ORGANISATION % ‘CBDWLQIWYQCL’ $:805» ‘OPERATION’ &
‘CXFBWYQCL #d (&&d. wond ‘SEPARATION’ & 66 8% 58 Hdo.

(1) EJXEBYQCL (2) "JFQYWBCXQLx

(3 TFXWBWYQCL (4) QCLYWBFXJEX

Ifin a certain code lat'1guagc ‘TOMATO’ is written as ‘264126’, ‘NET” is written as ‘552’,
then ‘TRACTOR’ will be written in that language as |

28 QFWS 56 ras® ‘TOMATO’ & ‘264126’ ©3, ‘NET” & '552' wd o, od
§55° ov5HE ‘TRACTOR® ©38. .

(1) 2813269 (2)2913269
(3) 2193269 (4) 2913296

[f in a certain code language ‘HEART’ is written as ‘@8531" and ‘FEAST" is written as
‘#8541°, then ‘FARTHEST is written in that code language as

o8 P8gES iaes® ‘HEART' & ‘@8531'wd ‘FEAST' % ‘@8541" ©d oo, & §'6
erde* ‘FARTHEST'Q 2é ovdro.

(1) @8543#18 (2) #5314@81
(3)-#531@841 : (4) #531@481
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‘yeﬁow ‘yellow” is called ‘violet', then the colour of grass 1s
(1) Blue (2) Yellow
(3) Violet (4) Red

B & 38 e, '35263;1;@93 ‘2’ J ‘38 e, ‘3&5‘&) QT @, g 8‘365
©0 50, 63 @ng, dor

(1) =z 2) ¢
(3) 388 | (#yo5

164. Replace the qucstion mark (7 in the sequence given below with the suitable option.

Bod aB50dS BXEHSNS* B K& (?) H 1S oQEEns’ FE Bokoiv.
36 2,342, 1330

(1) 122 ‘ (2) 123

(3) 124 (4) 125

165. Identify the number that does not follow the pattern of the sequence given below.

@odwésa)&é LES0 03.»52, SRrTN @0IB0BR ‘°°’98"6° 8 oS0,
l 4 25 256, 3125, 46656, 823543 _
(1) 3125 (2) 46656
(3) 25 . (4) 823543

166. Replace the question mark ( ?) in the sequence given below with the suitable option.

@g? RSES @63@535:025‘ R 08 (?7) & S48 axﬁaéa&»é‘ &6 BWoasw.

Y3 ‘a
YBZC, DWEXF, GUHVI, JS\KTL ?
\
(1) NQORP | {2y~ MQNRO

(3) MRNQO ' (4) OQNRM
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- -~ o wanw AW ANTAS  ARANES AN - FY ANAE OMILALIAW WRSLEWAE AR MAW GIMLIGTILULLIVEI IV DUIALD 1¥Yy< il
e ™ X i ¥ o

below

ol '535523&«‘6 eséd -SogrgdESosne’ B# N8 (1) S &aS mibé:éwé‘ &8 o Boﬁao:ﬁw
223_B_W3l9CS ‘7 713GM ITLIKK
(1) SI13EM (2) 420DT

(3) 621FU (4) SI7EQ

168. In the following letter sequence, some of the letters are missing which are given in that
order as one of the alternatives below it. Select the correct alternative.

808 ©ES eDED0S, S'0o0d BETODH ¥F EH0S’ T §od PBErgEMSreS® L 8
o0SEASD. VOGS BEFETAErY IFFoD0.

AG ;BB ACEC.BPADA. B
(1) EEDC (2> EDEC
(3) ABCD (4) EDBA

169. Five figures are given hereunder. Out of them, the three figures to be joined to form a
square are R

S HRBS pBoDden onsﬁsaa&:'éa T3¢ . $e g! Q) Qdo)da‘as oago:ﬁsvbé S

Séren A ¢
(A) (B) >0 (D) (B)
9y AGD (2) AB.Df

(3) B,D,E @) GD.By
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17V, LW WWLGL ITULLUVL V4 WL VUUCD 1 LG Ivnuw uxs usunc 1

$08 JLINS'Y Indo oA PoSSwe Sopg.

(n 8 . (2) 9
(3) 12 ' : (4) 15

Directions to questions 171 to 175: Read the following information carefully and answer the
questions given below it.

171 %00 175 565 ffo HHo JFiee : §od HSF TR FEE™ S8, B BIHLSS c0dgwss
BHOH ISrTIDI0Y

On a shelf are placed six volumes side by side labelled A, B, C, D, E and F. Three volumes B,C
and E have green covers while the other volumes have yellow covers. A, D and B are new volumes
while the remaining are old volumes. A, C, and B are law reports, while the rest are Gazetteers.

u§ ©s' A, B,C, D, E, Fol Do vd8oEndS vhdoPired wiTd BE{S assm
GIon. TES* S JdoYiren B, C, Eéép BRIHQ §5D, DADS DoYLroB HYDHD
E38 GIow. A, D,'B e 58 :.Sbiaé.roo, NHOIJ F& SoJhiren. A,C,Bw Jgad J3BEew,
DADID FTHYE Jdorard WrdEen.

171. Which one of the volume is new, yellow-covered and Gazetteer?
5500 SO 360 EOAS EE TEOE HSrerd_ArDE dobRn?
(1) B 2> D (3) C (4) F
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BoBTIS* FHEE JSrars Hr0E Dng), FE BoPLDE?
(1 ¢ (2) D
Y E (4) B

173. Which one is the yellow-covered new law report volume?
5508 Sofis E56 EONS §F TgeHIIBE BoRe?

() D : " (2 B

3) C | @ A

174. Which one is green-covered, old and a law report volume?
SRIHESDH EOHS & 6‘89508)38'5 JoJLa?

b e | (O A

3) B ' (4) D

175. Which two volumes are old Gatetteers?

D Bo HoPren, FE THOE SSrard SrdEen?

(D~'EF | B
(3) BE © (49 DF

Directions to Questions 176 to 180 : Read the following information carefully and answer the
questions given below.

176 So08 180 555 Ko BHS Iésen : §ob HErTOY ST 38D, IS BHHI
gRAS PHOH SBrTIB0
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C is not the mother of B. A and C are a married couple. E is the brother of C, D is the daughter

of A. F is the brother of B.

28 SolnromSns'd st Heges A, B, C,D, E, F eottr 50 Gosrdigmés. C awe,
Soirdrd Beg Bawg, 60 Cd A, Ceo DS sobs. C g, #6d E, Ao, 53

D. B @w¥, 36 F.

176. How is E related to D?

(1) Father (2) Brother
(3) Uncle (4) . Cannot be determined
D3$ E & fo So203086?
(1) Sod (2) 88
(3) WOSS (4) dTdowBIw
177. Who is the wife of E?
(1) A (2) B
(3) C (4) Cannot be determined
E Gx¥), gy 258?
(1 A (2)' B
@) ¢ 4y dBoBI»
178. Which of the following is a pai;' of females?
8od &3 Ro 28 28?
(1) D,F ()AD
(3) B,D (4) A,.E
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Tr m et mmemmee ) amssNeA AL WS WAT £ R AR Y W

A& Ko DeBoss:? |
(n 1 2) 2 @r 3 @) 4

180. Who s the fathe(_of F?
F Gwof, do@ 567
(1 A (2) B gy C - (4 D

Directions for Questions 181 to 190 : In each of the following questions, there are two statements
labelled as Assertion (A) and Reason (R)

Choose your option as

(1) ifboth ‘A’and ‘R’ are true and ‘R’ is the correct explanation of ‘A’

(2) ifboth ‘A’and ‘R’ are true and ‘R’ is not the correct explanation of ‘A’
(3) if*A’istrueand ‘R’is false

(4) if*A’is false and ‘R’ is true

181 %08 190 568 fio HHot IS : §od PHOK BETISD IYSSEw (A) S8
sodn (R) 3 o BSuares soitrow. e :

‘A SoB0%0 ‘R'sEgEn, 98 ‘A’ 8 R’ 538 D56 wond (1) eb;

A 200k R’ B5E, war ‘A& ‘R’ S0 D56 sEXE (2) o
AT DEgin So0osn R’ wBdgd (3) vl :

A egin Sooamy R’ sd5d (4) o B omed JofEod.

181. Assertion(A) : Moét of the Himalayaﬁ rivers are'p'ct;ennial.
Reason (R) = : They are fed by melting snow. '
ANSEED (A) : SrSrobSEHOS* e.ssafssx 2355000,
s*¥0o (R) D NS Soowst v Dodwdddsamow. |
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Reason (R)
Ags&co (A)

—)/96500 (R)

183. Assertion (A)
Reason (R)
AQE&co (A)
s600 (R)

184. Assertion (A)
Reason (R)-

dagsco (A)
s*8eo (R)

185. Assertion (A)
Reason (Ii)
AQd&co (A)

;)‘/ﬁ'dew (R)

186. Assertion (A)

Reason (R)

RS0 (A)

5600 (R)

GET IT ON
Google Play

- T e e e G T L Y

Aurangzeb could not follow the policy of appeasement.
ToofEa @& 85S ITIENS* IPendasyy.
ToofEan 20ghod IFITR) ©HHBoEBEDcirD.

Social integration at workplace is necessary.
There are many backward classes in society.

sorgoodod” sl widorrso w3380,
Jdrzoesst Trer IDE0ES SSKd e & To.

People prefer to wear white clothes in winter,
White clothes are good reflectors of heat.

3¢°5°00S" BYd STen FOoBTIE Haen 2DEe™D
80 SZen A B8, DTy Hod T

: Good performance at work causes satisfaction.

Job satisfaction results in good performance
DAS* B0QBEGHS S 208,
5367 S0y HOGo 20D BEGS Soknod.

‘DNA’ Finger Printing has become an important test to cstabllsh paternity
and identify the criminal of rape cases.

Small samples such as hair, dried blood and semen are adcquate for
DNA analysis.

DOEY 8 THoS* IERE HEE) So0ckn KHBoH AFdoumIE ‘DNA’
S0 Een (2oKE ©oiol) wid Swpg H68 ©o0g0d

DNA D3am Jognsen, o83 6550 Sobosw, Dgswe B0,
SgeydSoraier  (Small samples) $82Fa~om.
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187.

Assertion (A)

Reason (R)

' &)8.)8650 (A)

188.

189.

190.

sdwo (R)

Assertion (A)

" Reason (R)

Andéco (A)

s°&eeo (R)

Assertion (A)

Reason (R)

AYHs&Eco (A) -

g0 (R)

Assertion (A)
Rcasoh (R)
AHddco (A)

s*80 (R)

GET IT ON
Google Play

Vaccines prevent diseases.

Vaccines must be given to children.

Bsen SrodH JEBJow.

S50l DeodH ond) 80°9.

The use of chlorofluoro carbons is banned throughout the world nowadays.

: These chemicals cause skin cancer.
5§+ ‘
VS sEd ds) & Sy BdodagRom JaGoT .

& SFohare s¥mom S8 57550 Sodb.

. Graphite is slippery and used as a lubricant.
. Graphite has free electrons.

R i Bgersdn od, HAV EoBIm GIRrATE.

TRES V) JOFIW GoLrow.

Roughage prevents constipation.
. Roughage adds bulk to the food.
LHBEgo DHowgs'y) T8

HiSHdTgo SHCDE BHEED SHErEH0B.
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Bption as

(1) if the statement [ alone can give the answer to the question;

(2). if the statement I alone can give the answer to ﬁc qucsti'on;

(3) if the statement I and II together are necessary to give the answer to the quest{on;

(4) ifthe statement [ and II together-also are not sufficient to answer the question and additional

informatiqn is necessary.
191 So0d 195 568 Ho ©8 BHS S w8 @%), o9 _Sogd Bodo @ddgren I 1T e Q.
B35S0 1 & Sr@d P asdssrond (1) oo
@380 [ & Sr@d H. ga'aésﬁoné (2) &
.@515:60 LT of 5008 Sm@d @H% a;r!.).ﬁsdé)ﬂé (3) ®:

@3S0 I, 11 e ’ao&oﬁb &8 nofod 9(5:6;’2) dSrTdo Bhom BHL 83'95335373
4 93) DoYEI) %>8o0d.

191. What is the ratio of male and female officers in the police force of the town T?
L The number of female officers is 250 less than half the number of male ofﬁcers.

1 ;
[I. The number of female officers is :,— th of the number of male officers.

5 T & 305 FESD Do H0oke § 005G GG Jos?

L & sdste dopg YOG sisdhe Bopgs® HMA EoB 250 859,

|
I R edsdhe Sovg, DA vishe Jopgst 7 3 erifo
) i . e —
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I Prasad correctly remembers that Murthx s birthday comes after Wednesday but before '
Sunday.

I Imam correctly remembers that Murthi’s birthday comes before Friday but after
Tuesday.

S8 2HBI50 ;.rdoé‘:) 2 Gad $9087

L 500 28,8850 ;55700 SHTE; £ 66708 K0 Sg06 EE6 pYdor
8308,

L Sorg 2858350 HETTIE Snodks; 5 Sofdado ShTd SRS asr K
pydor HE0. : :

193. How is Chaithanya related to Lakshmi?
. Mother of Chaitanya is the sister of Laksbmi;s father.
II.  Lakshmi is the daughter of the only son of Chaitanya’s grandfather.

. ogbé‘ DESEEH Ko doodHd? .
L BESg 89, ©f) Sod BwE), AL

L B&8g 8mrd 988 H5rdd Bwg), K53 of)

194. Among the ﬁve friends - A, B, C, D and E each of different helghts who is second tallest?
. Eistaller than D and B. B is shorter than D.
[I. Cistallerthan E. A is not the tallest.

208 der EOAS oS08 yir&es A, B, C, D, E of', f6% 289" oS
88?

L D,Bo %08 E 2435>%. D 08 B FPTE

.. E%o8 C2435a. A K835 24168 oo ' -
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R isto the East of S which is to the North of P.
R is to the North of Q.

R &35 PO 83 667

L

IL

P %08 8078 %) S & Er8S R o&)B.
Q S0d &do s R #&6.

Directions for Questions 196 to 200 : Read the following inf‘ormation carefully and then answer
the questions below it. Yy

Following are the conditions for sélecting a research officer for a reputed research institution.-

The candidate must .

A. beapost-graduate with minimum 60% marks

B.  have Ph.D degree after post graduation .

C.  have research experience of atleast 3 years

D. have fluency in Hindi and English

E.  have published atleast 5 research papers

F: not be less than 25 years and more than 35 years as on |st July 1993.
G have diploma in Statistical Applications.

In the case of a candidate who

i)
ii)

satisfies all other criteria except A above but has post-graduate degree with more than

55% marks, his case Wil be referred to the Director of the Institute.
satisfies all other criteria except C above, will be referred to the Joint Director.

Now, read the information provided in the case of the candidate in each of the questions
given below and decide on the basis of the information provided and the above
conditions, which of the following courses of action is to be taken.

Give your option :

(I) if the candidate is to be referred to the Director

(2) if the candidate is to be referred to the Joint Director ‘

(3)
(4)

if the candidate is to be selected
if the candidate is not to be selected
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B2 O st A it o Gl -8 Ay - T, e 0 s s -u wOLSE' WWW W T (oW qw&www

BHOKH JIREEJoB0y,
o8 BSop D0FES S0 VBFES V858 IKEIEIE InogSen Bol cSgRaron. $
vigges spBOm
80 60% Srdy 08Dy rdgehis vty Somd;
FRrdogehiS So%gs Ph.D &ih
EJ%0 3 DosSdyssne HPFES vdgSo
06 $8c5» Rofid Fhes” TEHBNH
800 5 2YFES dere B
1993278 | 288 25 SoSdoren 85,3 skom, 35 SoSHoresr DoSd JcBdy).
FBES wpEAG)S* A%SEr $OA GoTd.
B> 28 gl

o " m Y 0w

) AdS) DNOS o) Hirered SR B8, FRTHE0E HDE*55% Dod Srdy oo
Fod aoé, oY $4) é"m:&_:&oé A, 366 S8 ST Td.

i) C &3 DAdS e Biraro SRBETY, Mmool BEEE GhE kosoad.

Y& od cnSgwdS PHos* 963630& B0w0B0NS VST o) WA, & BIrTTo wFsom, <
Bod 2B SogStns’ I8 SOGSE" dgonowHEn.

25300 FBEE S8 Bokosods, (1) ©b

w580 ronols BEES SR8 BPHTIOVEDY, (2) v
s500 JobE BabSedsh, (3) 8d

SR BEH,BoIJORI R, (4) ©d

196. 28 year old Sridhar has obtained his Ph.D degree and is a post-graduate with 70% marks.
He has diploma in Statistical Applications and research experience of 2 years. He has got
published 5 research papers and is fluent in English and Hindi.
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fluent in Hindi and English. He has. got 5 research papers.published and has research
experience of 4 years. He hascompleted diploma in Statistical Applications.
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198. 32 years old Ananth has obtain Ph.D degree and diploma in Statistical Applications. He

obtained 53% marks in post-graduation. He has research experience of 4 years and has got
published 6 research papers. He is fluent in English and Hindi.
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'199. Padma has obtained Ph.D degree and diploma in Statistical Applications. She has 65% marks
in post-graduation. She has research experience of 4 years and has 6 research papers
published. She is fluent in Hindi and English. Her date of birth is 7th September 1958.
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200. Raghu is post-graduate with 56% marks and has obtained Ph.D degree. He is fluent in Hindi
and English. He got 5 research papers published and has research experience of dyears. His
date of birth is 4th September 1958. He has obtained diploma in Statistical Applications.
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